II. Choose the one word or phrase that best completes the sentence.

1. Because of the global recession, the company has decided to many middle managers.
O hire @ lay down @ lay off (@ spare

2 .The winter in Vancouver is relatively mild n the rest of Canada it can be brutally cold.
@ despite @ during @ which @ while

3.The research we conducted proved conclusively that dinosaurs became extinct as a of a sudden
climate change.
@O by-product @ means (3 phenomenon @ result

4 .The 200 Aboriginal languages of Australia belong to a of their own.
@ family @ history @ language @ species

off

5.In any natural history of the world, language would stand out as the preeminent .
(D characteristic = & communication @ description @ signal

6 .He is such a genius that he comes a solution to any problem.
O down to @ inwith @ onto @ up with

7 .The professor was so confusing that I could not make anything what he said.
@ instead of (@ out of (@ sense of @ short of

8.To be a good problem solver, you need the ability to any situation quickly.
D cheer up @D sizeup @ turnup @ work up

9 .Would you take y responsibilities while I'm on vacation?

@ away @ over @ upon @ with

10. Some people hold their beliefs very strongly, even to the of being prepared to go to prison for
them.
@© extend (@ extension @ extent @ exterior

11.The whole week Michael was preparing like for the job interview.

D fantastic @ mad @ neat @ suicidal

12. Twenty million people will face starvation a vast emergency program is launched.
@D because @ if @ since @ unless

13.The of influenza in Europe is expected to have a bad impact on the region’s economy.
@ crumble @ decline @ outbreak @ relief

14, He condemned the hypocrisy of those politicians whoe say one thing and do .
(D another @ hetter & other @ worse

15.The company’s president was with false advertising and fraud.
@ accused @ charged & convinced @ escaped
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roba
ヒント
「中間管理職を一時解雇する」と考える。lay downは「降ろす」とか「やめる」意味があるが、ここでは不適。recesion（不況）は必須単語。

roba
ヒント・コメント
以下が節であるから、接続詞あるいはその相当語句（関係詞など）ががくる。①②は前置詞。以下の文はS+V+Cの文なのでwhichは不適。センター試験必須事項

roba
ヒント・コメント
「急激な気候変動のために」の意味。extinct（絶滅した）の「原因理由」になるように選ぶ。

roba
ヒント・コメント
「種族のもの」という意味に。

roba
ヒント・コメント
「際立った特徴」という意味にする。natural historyは「博物学」

roba
ヒント・コメント
「どんな問題でも解決策を考え出す」という意味に。come in withは「参加する」。

roba
ヒント・コメント
「教授の言っていることが分からない」という話。make nothing (out) of=さっぱりわからない。

roba
ヒント・コメント
「状況判断する能力」の意。原義は、何らかの基準（大きさ、長さ、重さなど）に合わせて分類する、という意味の句動詞。

roba
ヒント・コメント
「引き継ぐ」のであれば、take over、しかし、while以下で限定していることから、一時的に引き受けるという意味にする。

roba
ヒント・コメント
名詞が入る。①は動詞。②はinteriorの反意語。彼らの信仰の強さは、牢獄に送られるのさえ覚悟している、ということで「程度」。②③どちらの名詞か？

roba
ヒント・コメント
likeは前置詞で「～のように」。前置詞ならあとは名詞。選択肢はすべて形容詞。このlike(=as if)は接続詞と考えて、like(as if) he were・・・。

roba
ヒント・コメント
①③は、理由なので不適。「～ならば」ならば、②、「～しない限り」ならば④。

roba
ヒント・コメント
インフルエンザが発生する、を意味する名詞構文。

roba
ヒント・コメント
言っていることとやることがまったく異なる、の意味に。センター試験必須事項。

roba
ヒント・コメント
①②とも「告発される」の意味あり。前置詞にwith（一方はof）をとる方はどっちか。なお、false advertisingは「虚偽広告」、fraud[frƆ:d]は「詐欺行為」,それぞれ意味する。




